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2 TR 100.0f  75.0f  75.0f 75.0f 75.0i 75.0{ _75.0/ _ 87.5 12.5 - 12.5
e 20 17 16 18 16 16 17 18 - 2
& A 100.01 85.0i 80.0i 90.0f 80.0/ 80.0i _85.0f _90.0 - - 10.0
U 10 9 9 9 3 9 9 9 2 1 -
AcElA 100.0] 90.0f 90.0i 90.0f _80.0/ 90.01 90.0f 90.0{ 20.0 10,0 -
H—Ee R 148 96 90 96 85 91 88 92 6 23 19
100,00 64,9 60.8, 64.91 57.41 _61.5, 59.5. _ 62.2 4.1 15.5 12.8
#5s 81 73 74 73 65 68 64 68 4 3 -
N 100.0f 90.1i 91.4f 90.11 80.21 84.0i 79.0f 84.0 4.9 3.7 -
PN 115 103 99 103 101 98 89 100 4 2 7
sy —e= 100.0 89.6i 86,11 896/ 87.8 8521 77.4i 87.0 3.5 1.7 6.1
- 13 11 10 10 10 10 11 10 - - 2
e 100.0f 84.6f 76.91 76.91 76.9 76.91 84.6{ 76.9 - -} 15.4




f20A. v V7 OREHM (77 AT U4 —) -

BRI AT & (IDS, 1IPSEE) owu )

H 1 1 3 6 1 1 S z e iH fil3
# i »n M 7 A oS b9) D =2 H =]
e Eil H H H Eil % T ft L L S
L il | il el A < <
T z VA W W
%) A 7 72
v W
P 518 21 48 46 13 72 144 91 27 11 ) 7
100. 0 4.1 9.3 8.9 8.3 13.9 27.8 176 5.2 2.1 .5 .4
k. o 3 - - 1 - 1 - 1 - - - -
JERR + KT - L 100, 0 - -l 33.3 - 33.3 -1 33.3 - - -
o 136 6 i7 12 19 30 3 31 6 3 5 -
R 100, 0 4,41 12,5 8.8 14,00  14.7.  22.8/ 15.4 4.4 .5 .5 -
i s 36 1 4 6 3 5 9 4 1 1 1 i
ENE - 5 100. 0 2.8 1111 16.7 8.3 13.9 250 11.1 2.8 2.8 2.8 2.8
ol 28 3 1 4 2 4 13 1 - - - -
T 100.0  10.7 3.60  14.3 710 14.30  46.4 3.6 - - - -
N 6 = 2 1 = - 2 - 1 - - -
P 100.0 333 16.7 - 333 16,7 - - -
17 - - 3 - ] 6 3 1 = = =
- i3 100. 0 - -1 17.6 | 235! 353 17.6 5.9 - - -
- 9 - - 1 1 1 4 1 1 - = -
" = 100. 0 - -0 11l 11 111 44.04f 1110 111 - - -
= 96 3 8 7 6 11 29 16 5 1 3 1
100. 0 3.1 8.3 7.3 6.3 11.51  30.2  16.7 5.2 4.2 3.1 4.2
. 73 3 6 9 2 10 16 18 5 2 2 -
H 100. 0 4.1 8.2 12.3 270 13.70 21,91 24,7 6.8 2.7 2.7 -
PN 103 1 10 2 8 14 31 23 7 2 - 2
By —e A 100. 0 3.9 9.7 1.9 7.81  13.60  30.11  22.3 6.8 .9 - .9
P 11 1 - - 2 2 3 3 - - - -
i 100. 0 9.1 - - 18.21 18.20 27.31 o7.3 - - - -
M20B. v VDN GIE (T 7 AT VA=V - RAFITL AT L (IDS, IPSH) Dr )
il H P48 * piis
T an il D
e % s &
it
N 518 302 192 10 14
= Ik 100.0{ 5831 37.1 1.9 2.7
- 3 2 1 - -
JRAR - KT - 13 10000 66.7]  33.3 - -
. 136 75 54 2 5
g 100.0f  55.11  39.7 L5 3.7
: 36 25 11 - -
N . e
EIE - B 100. 0 69. 4 30.6 - -
. 28 15 12 - 1
ik 100.0f  53.6]  42.9 - 3.6
S 6 2 4 - -
g [TAMF 100.0| _33.3] _ 66.7 - -
- 17 10 6 1 -
- A 100.0f  58.8  35.3 5.9 -
PR 9 6 2 1 -
i L 100.0  66.7 22.21 11.1 -
. 96 59 31 3 3
FoE 10000 615 323 31l 31
73 54 16 - 3
Sfe s
B 100.0f  74.0f 21.9 - 4.1
P 103 15 53 3 2
sy —e= 100.0f  43.71 515 2.9 1.9
P 11 9 2 - -
A 100.0f 81.8] 18.2 - -

fHk2-21




f20A. = ZOREHH (V=7 —N"~DT7 I'A1Y)

H 1 1 3 6 1 1 S z e iH fil3
# i »n M 7 A oS b9) D =2 H =]
e Eil H H H 4] % T ft L L S
L il Eil il el A < <
T z VA W W
%) A 7 72
v W
P 502 19 39 4 39 59 146 94 28 11 14 9
100. 0 3.8 7.8 8.8 7.8 11.8)  29.1] 18.7 5.6 2.2 2.8 .8
k. o 3 - - 1 - - 1 1 - - - -
JERR + KT - L 100, 0 - -l 33.3 - | 3330 333 - - - -
o 135 5 2 5 i3 i3 37 31 5 3 6 i
R 100, 0 3.7 8.9 111l 1L.11 1.1, 27.4 156 3.7 2.2 4.4 0.7
i s 32 1 1 5 2 4 10 5 - 2 - 2
ENE - 5 100. 0 3.1 3,11 15.6 6.3 12.5/ 3.3 15.6 - 6.3 - 6.3
ol 28 2 1 1 2 6 13 2 1 - - -
T 100. 0 7.1 3.6 3.6 .10 21,41 46.4 7.1 3.6 - - -
N 6 - 1 1 1 - 2 - 1 - - -
" TAHNE 100.0 - 167l 16,71 167 -| 333 -l 16,7 - - -
16 - 1 3 - 2 4 i 2 = = =
- i3 100. 0 - 6.3 18.8 -1 12.5( 2500 250/ 12.5 - - -
- 9 = - - 1 1 4 1 1 1 = -
" = 100. 0 - - L1l 1144048 1110 111 111 - -
= 90 5 6 9 5 9 26 17 3 2 5 3
100. 0 5.6 6.7 10.0 5.6/ 10,00 28.91 18.9 3.3 2.2 5.6 3.3
. 74 3 1 5 5 8 19 15 9 2 2 2
H 100. 0 4.1 5.4 6.8 6.8 10.81  25.7i  20.3|  12.2 2.7 2.7 2.7
PN 99 2 13 2 6 13 29 25 6 1 1 1
By —e A 100. 0 2.0i _13.1 2.0 6.1 13.11  29.31 253 6.1 L0 .0 .0
P 10 1 - 2 2 1 1 3 - - - -
i 100.0]  10.0 - 920.0f  20.00 10.0f 10.0{ 30.0 - - - -
RH20B. v Z O i (U 27— "~ 7 7821 Y)
W] o\ | 4 | & | ®
T fan il D
e % s &
it
N 502 228 240 12 22
= Ik 100.0{  45.4]  47.8 2.4 4.4
- 3 1 2 - -
JRAR - KT - 13 10000 33.31  66.7 - -
. 135 67 56 3 9
g 100,01 49.6] 415 2.2 6.7
: 32 16 13 - 3
N . e
EIE - B 100. 0 50. 0 40. 6 - 9.4
. 28 3 20 - -
ik 100.0{  28.6]  71.4 - -
N 6 3 3 - -
g [TAMF 1000 50.0]__50.0 - -
- 16 6 8 1 1
- A 100.0f  37.5{  50.0 6.3 6.3
PR 9 6 2 1 -
i L 100.0  66.7 22.2 11.1 -
. 90 44 39 3 1
FoE 100.0f  48.9]  43.3 3.3 4.4
74 39 32 - 3
Sfe s
B 100.0f 52,71 43.2 - 4.1
P 99 33 61 3 2
sy —e= 100.0f  33.31  6L6 3.0 2.0
P 10 5 1 1 -
A 100.0f  50.0i 40.0/ 10.0 -

4%2-22




f20A. = 7 OREHH (A —LHP—onr )

H 1 1 3 6 1 1 S z e iH fil3
# i n M 7 A oS b9) D =2 H =]
e Eil H H H Eil % T ft L L S
L il | il el A < <
T z VA W W
%) A 7 72
W i
P 519 15 53 44 11 59 180 77 24 10 9 7
100.0 2.9 10.2 8.5 790 11.4)  34.7.  14.8 4.6 1.9 L7 1.3
b L L 3 - - - - 1 - 1 - - 1 -
JERR + KT - L 100, 0 - - - - 33.3 -1 33.3 - -| 33.3
; 138 3 § 14 9 13 65 15 1 5 2 -
Uk
R 100.0 2.2 5.8, 10.1 6.5 9.4 47.11 _10.9 2.9 3.6 1.4 -
i e 35 2 5 2 3 3 12 5 - 2 - 1
ENE - 5 100.0 5.7, 14.3 5.7 8.6 8.6/ 3430 14,3 - 5.7 - 2.9
e 28 1 1 1 3 7 13 1 1 - - -
S 100, 0 3.6 3.6 3.6 1070 2500  46.4 3.6 3.6 - - -
N 6 - 2 - = 1 2 - 1 - - -
P 100.0 333 - 16,7, 33.3 16,7 - - -
18 - 2 2 - 2 1 5 1 . 1 1
E@%% 100.0 - 1L1b 1Ll | 1L1f 22,20 27.8 5.6 - 5.6 5.6
T HEE 9 ~ ~ ~ 2 ! 4 ! ! ~ ~ ~
100. 0 - - -l 2220 111b 44.4F 1110 111 - - -
F—r= 96 3 10 10 7 13 30 11 6 2 2 2
100. 0 3.1 10.4] 10.4 7.3 13.50  31.31  11.5 6.3 2.1 2.1 2.1
- 73 3 11 7 1 5 19 13 5 1 3 2
N 100, 0 4.1, 15.1 9.6 5.5 6.8 26.00 17.8 6.8 1.4 4.1 2.7
P 103 2 14 6 12 12 29 22 5 - - 1
By —e A 100.0 1.9 13.6 5.8/ 1170 1170 2821 21.4 4.9 - - .0
. 10 1 - 2 1 1 2 3 - - - -
T 100.0{  10.0 I 200l 10.0] 10.0f 20.0f 30.0 - - - -
fH20B. & 7 O ik (A—NH— "onu 7)
il H P48 * piis
T an il D
e % s &
it
AN 519 223 265 13 18
= Ik 100.0{  43.0f  51.1 2.5 3.5
i . 3 1 1 - 1
JRAR - KT - 13 100,00 33.31  33.3 - 333
1] 2 138 49 79 3 7
g 100.0{  35.5|  57.2 2.2 5.1
) 35 15 18 - 2
N . e
EIE - B 100. 0 42.9 51.4 - 5.7
. 28 13 15 - -
ik 100.0{  46.4] _ 53.6 - -
N 6 2 1 - -
g [TAMF 100.0] _33.3] _ 66.7 - -
- 18 6 9 1 2
- A 100,00 33.31  50.0 5.6/ 11.1
P 9 5 3 1 -
i L 100.0]  55.61  33.31 1.1 -
- 96 37 53 1 2
FoE 100.0!  38.5| 55.2 4.2 2.1
73 40 30 - 3
7r:
B 100.01 54,81 41,1 - 4.1
PRI 103 51 13 3 1
sy —e= 100.00  49.5|  46.6 2.9 1.0
s 10 1 5 1 -
T 100.0{ 40.0{ 50.0{ 10.0 -

f%2-23




f20A. = 7 OREHH (Faxh—onr )

H 1 1 3 6 1 1 S z e i fil3
# i »n M 7 A oS b9) D =2 H =]
e Eil H H H Eil % T ft L L S
L il | il el A < <
N Z AN
% W
P 468 19 40 20 38 49 117 71 21 9 3
100. 0 4.1 8.5 4.3 8.1, 10.5| 25.0{ 15.2 4.5 .9 .6
k. o 3 - - - - - 1 1 - 1
JERR + KT - L 100, 0 - - - - -| 33.30 333 - - .3 -
o 120 5 ) 5 16 i3 5 13 p) 6 5 i
R 100, 0 4.2 7.5 4,20 13.31 10.81  20.8i  10.8 1.7 .0 .8 .8
i s 26 1 1 2 2 4 8 4 - 1 2 1
ENE - 5 100. 0 3.8 3.8 7.7 770 15.41 30.8! 15.4 - .8 7 .8
ol 28 2 - - 3 3 15 - 1 1 3 -
T 100. 0 7.1 - -l 10.7010.70  53.6 - 3.6 .6 7 -
N 6 - 1 1 = - 3 - 1 - -
P 100.0 16,7, 16.7 - 50,0 16,7 -
16 - - 3 i 2 4 3 1 1
- i3 100. 0 - -1 18.8 6.3 12.5| _25.0{  18.8 6.3 .3
- 8 - - - 1 1 3 1 1 1
" B 100. 0 - - | 1251 1250 37.5. 12,5/ 12.5 .5
_\‘ 85 7 7 1 5 8 22 8 4 -
yoex 100.0 4.7 8.2 4.7 5.9 9.4 95,9 9.4 4.7 -
. 65 1 1 3 3 1 11 15 3 1
H 100. 0 6.2 6.2 4.6 4.6 6.20 16,90 23.1 4.6 .5
PN 101 2 18 2 7 13 24 23 8 -
By —e A 100. 0 2.0i __17.8 2.0 6.9 12.91  23.81 22.8 7.9
P 10 1 - - - 1 1 3 -
i 100.0{  10.0 - - - 10.0f  10.00 30.0 -
f120B. v 7 Oft ik (e ¥ —on)
il H P4 * piis
T an il D
e % s &
it
N 4683 233 144 12 79
= Ik 100.0{  49.8]  30.8 2.6)  16.9
- 3 2 - - 1
JRAR - KT - 13 100,01 66.7 - -| 333
1] A 120 52 37 - 31
g 100.0f  43.31  30.8 - 95.8
: %6 18 7 - 1
N . e
EIE - B 100. 0 69. 2 26.9 - 3.8
. 28 15 10 - 3
ik 100.0  53.6]  35.7 -1 10.7
S 6 3 3 - -
g [TAMF 10001 50.0]__50.0 - -
T 16 8 5 1 2
A 100.0f  50.0{ 313 6.3 12.5
fa s 8 4 2 1 1
AcElA 100.00  50.0{ 25.0/ 12.5{ 12.5
. 85 39 21 5 20
FoE 100.0 459  24.7 5.9/ 23.5
65 38 10 2 15
Sfe s
# 100.0f 585  15.4 3.10 23.1
P 101 19 47 3 2
sy —e= 100.0f  48.5|  46.5 3.0 2.0
P 10 5 2 - 3
A 100.0{  50.0{  20.0 -1 30.0

ek 2-24




M20A. = 7 OREHH (F@RS AT L~ORiER 7))

H 1 1 3 6 1 1 S z e i fil3
# pic| »n M 7 A oS b9) D =2 H =]
e Eil H H H 4] % T ft L L S
L il | il el A < <
N z AN
) Y
= 192 20 30 33 35 57 167 93 26 4
100. 0 4.1 6.1 6.7 7.1 116, 3397 18.9 5.3 .8
. e e 3 - - - - 1 - 2 -
JERR + KT - L 100, 0 - - - -| 333 -l 66,7 - -
o 132 6 7 i5 10 15 i 24 5 i
R 100. 0 4.5 5.3 114 7.61 114 31.8  18.2 3.8 .8
T 31 1 1 3 1 1 13 5 1 =
ENE - 5 100..0 3.2 3.2 9.7 3.20 12,90 41,91 16.1 3.2 -
e 28 1 z 1 2 4 16 3 1
2 100. 0 3.6 - 3.6 71l 1430 5711 10.7 3.6
N 6 - i - - - 3 1 1
P 100.0 167 - - 50,0, 16.7) _16.7
16 - 1 P 3 i 4 5 1
& i3 100. 0 - 6.3l 125 125 6.3 250 31.3 6.3 -
JP— 9 - = - 1 1 4 1 1 i =
HxE1E 100. 0 - - el a1l 444 11l 111 1 - -
e 91 5 5 7 6 12 30 14 3 2 6 1
1000 5.5 5.5 7.1 6.6/ 13.2 330 15.4 3.3 2 6 1
P 68 1 6 3 3 6 21 16 7 3 2 -
A 100. 0 L5 8.8 4.4 4.4 8.8 309 923.5 10.3 4 .9 -
PN 98 5 8 2 9 10 32 20 6 2 2 P
By —e A 100. 0 5.1 8.2 200 9.2 1020 327 20.4 6. 1 .0 .0 0
P 10 1 1 - 1 3 2 2 - = - =
A 100.00 _10.0 _10.0 -{ 10,0l 30,0l 2000 200 - - -
M20B. & 7Ot s (IF#RY AT A~ORGER )
I I S R
T fan B D
e % s &
it
N 192 339 109 11 33
= Ik 100.0]  68.9] 22.2 2.2 6.7
o 3 2 - - 1
JRAR - KT - 13 100,01 66.7 - -| 333
ot 132 93 33 3 14
g 100.0]  70.51 _ 17.4 1.5, 10.6
i 31 26 4 - 1
N . e
BE - 5 100.0f  83.9 12.9 - 3.2
- 28 18 8 - 2
ik 100.0  64.3]  28.6 - 7.1
N 6 4 2 - =
g [TAMF 100.0| _ 66.7| _ 33.3 - -
16 10 5 1 -
" A 100.0]  62.5]  31.3 6.3 -
P 9 7 1 1 -
i L 100.0]  77.81 1.1} 1.1 -
T 91 65 15 3 8
FoE 100,00 714 16.5| 3.3 88
68 52 11 1 4
S5
# 100.0]  76.5]  16.2 1.5 5.9
P 98 54 38 3 3
sy —e= 100.0]  55.1]  38.8 3.1 3.1
P 10 8 9 - z
AR 100.0]  80.0{ 20.0 - -

{1 #%2-25




f20A. = 7 OREHH (F—2X—20nu )

H 1 1 3 6 1 1 S z e iH fil3
# pic| »n M n» e oS b5} D =2 H =]
E21q Eil H H H 4] % T ft L L s
L il Eil il el A < <
T z VA W W
%) A 7 72
0 W
= a7l 20 27 21 25 a7 145 112 21 21 28 4
100. 0 4.9 5.7 45 53| 10.0  30.8  23.8 4.5 45 5.9 0.8
. e e 3 - - - - - - 2 - - 1 -
JERR + KT - L 100, 0 - - - - - -l 66,7 - -l 33.3 -
; 129 8 5 10 7 17 36 30 i 6 5 -
3
R 100. 0 6.2 7.0 7.8 5.4 10.90  27.91  23.3 3.1 4,7 3.9 -
T 28 1 2 4 1 4 10 5 = 1 = =
ENE - 5 100..0 3.6 7.1 14,3 3.6] 14,3 35.7  17.9 - 3.6 - -
e 27 1 . - 9 6 2 4 = . 3 .
2 100. 0 3.7 - - 7.4] 2220 44.4 148 - - 7.4 -
N 6 - i - 1 - 2 1 1 - -
" TAHNE 100.0 - 167 - 167 -i 333l 16.7l 167 - - -
17 - 1 3 = i 3 5 2 i 1 =
& i3 100. 0 - 5.9/ 17.6 -| 59l 17.6] 29.4] 118 5.9 5.9 -
JP— 9 - = - 1 1 3 2 1 1 = =
HxE1E 1000 - - U a1l a1l 3330 9290 111 111 - -
e 88 1 6 2 5 6 30 20 5 2 7 1
100.0] 4.5 6.8 2.3 5.7 6.8 341 922.7 5.7 2.3 8.0 1
P 64 3 4 1 3 3 5 20 4 5 5 1
A 100. 0 4.7 6.3 L6l 47 4.7, 923.4 313 6.3 7.8 7.8 .6
PN 89 3 4 1 4 10 31 20 4 4 6 2
By —e A 100. 0 3.4 4.5 L1 4.5 11,21 34.8,  22.5 4.5 4.5 6.7 2.2
P 11 = = = 1 2 3 3 - 1 1 =
Al 100. 0 - - - 91l 182l 97.31 27.3 i 91 9.1 -
BI208. B 7 OB A (F— g R—ADE )
il H P4 * piis
T fan B D
e % s g
it
N a7l 309 102 14 6
= Ik 100.0{  65.6] 21.7 3.0 9.8
) . 3 1 = 1 1
JRAR - KT - 13 100,01 33.3 —f 3331 333
1] A 129 95 20 - 14
g 100.0]  73.61 _ 15.5 -1 109
i 28 24 4 = -
N . e
EIE - B 100. 0 85. 7 14,3 - -
- 27 17 8 - 5
ik 100.0  63.01 _ 29.6 - 7.4
N 6 3 2 1 -
g [TAMF 100.0] 50.0| _33.3|  16.7 -
o 17 9 5 1 3
" A 100.0  52.91  29.4 5.9 11.8
P 9 7 1 1 -
i L 100.0]  77.81 1.1} 1.1 -
T 88 63 13 6 6
FoE 100.00 716 148/ 6.8 6.8
64 37 14 1 2
7$:
# 100.0] 57.8]  21.9 1.6l 18.8
P 89 15 33 3 8
sy —e= 100.0]  50.6,  37.1 3.4, 9.0
P 11 8 2 - 1
AR 100.0] 7270  18.2 -1 o1

f$§%2-26




f20A. B 7 OREHE (V947 hPCouay)

H 1 1 3 6 1 1 S z e iH fil3
# i »n M 7 A oS b9) D =2 H =]
e Eil H H H Eil % T ft L L S
L il | il el A < <
T z VA W W
%) A 7 72
v W
P 506 15 20 32 30 63 160 107 9 15 21 4
100.0 3.0 4.0 6.3 5.9 125!  31.61 211 L8 8.9 4, 0.8
b L L 3 - 1 - - - 1 1 - - - -
JERR + KT - L 100, 0 - 333 - - ~| 3330 333 - - - -
; 137 i 3 i1 i3 18 iq 27 p) ) 6 -
Uk
R 100, 0 2.9 2.2 8.0 9.5 13.11 32,1 19.7 1.5 6.6 4.4 -
i s 34 - 2 2 1 5 14 5 - 4 1 -
ENE - 5 100. 0 - 5.9 5.9 2.90 1470 4120 14,7 - 11.8 2.9 -
il 28 2 - - 2 3 15 2 - 4 - .
S 100, 0 7.1 - - 7.1 10.70  53.6 7.1 - 14,3 - -
N 7 - 1 - = 2 3 - 1 - - -
P 100.0 143 - 286/ 42,9 14,3 - - -
18 - 1 3 i 2 5 3 1 2 = =
E@m¥ 100. 0 - 5.6, 16.7 5.60 1111 27.81  16.7 5.6, 11.1 - -
- 9 1 - - - 1 4 1 1 1 = -
" = 100.0f  11.1 - - L1l o4404b 1110 111 111 - -
= 92 5 1 9 5 12 28 15 2 8 3 1
100. 0 5.4 4.3 9.8 5.4 13.00 30.4]  16.3 2.2 8.7 3.3 1
. 63 1 - 1 1 6 15 23 1 14 6 -
H 100. 0 L5 - L5 L5 8.8 2211  33.8 151 20.6 8.8 -
PN 100 1 8 4 6 13 30 27 1 3 1 3
By —e A 100. 0 1.0 8.0 4.0 6.0, 13.00 30.0 27.0 1.0 3.0 4.0 3.0
P 10 1 - 2 1 1 1 3 - - 1 -
T 100.0{  10.0 I 200l 10.0] 10.0{ 10.0{ 30.0 - -1 100 -
[§20B. v 7O itk (VA7 FPCoORrY)
il H P48 * piis
T an il D
e % s &
it
N 506 379 67 9 51
= Ik 100.0{  74.91  13.2 1.8 10.1
: . 3 3 - - -
JRAR - KT - 13 100,01 100.0 - - -
1] 2 137 112 15 1 9
g 100.0{  81.8/ 10.9 0.7 6.6
- 34 27 2 - 5
N . e
EIE - B 100. 0 79.4 5.9 - 14.7
. 28 19 6 - 3
ik 100.0f  67.9]  21.4 -1 10.7
N 7 5 2 - -
g [TAMF 100.0] _71.4] _ 28.6 - -
- 18 11 4 1 2
- A 100.0f 6.1 22.2 560 11.1
PR 9 6 1 1 1
i L 100.0f 6.7 1.1} 1111 111
. 92 73 10 2 7
FoE 100.0f  79.31 10.9 2.2 7.6
68 45 q 3 16
7r:
# 100,00 66.2 5.9 4.4] 235
PRI 100 69 23 1 7
sy —e= 100.0f  69.0{  23.0 1.0 7.0
P 10 9 - - 1
A 100.0{  90.0 - -1 100

f%2-27




M20A. = 7 ORER (Zofth)

H 1 1 3 6 1 1 S z e iH fil3
# i n M 7 A A b9) D =2 H =]
e Bl H H H Eil % T ft L L S
L il | il A W < <
T % PN N W
%) A 7 72
W i
N 28 3 2 - - 3 6 5 2 1 1 5
N 100.0{  10.7 7.1 - -1 10.70 2147 179 7.1 3.6 3.6.  17.9
SR - KPE - G _ _ _ _ _ _ _ _ _ _ _ _
- 8 i - - - 1 3 1 i - i -
R 100.0{  12.5 - - - 12,50 37.5| 12.5| 12.5 - 12,5 -
i e 3 - 1 - - 1 - 1 - - - -
ENE - 5 100.0 - 333 - -l 33.3 -l 33.3 - - - -
S B B - B - B B - - _ - -
N 1 - - - - - - - 1 - - -
g [T 100.0 - - - - - - -1 100.0 - - -
Y _ _ _ _ _ _ _ _ _ - _ -
it
U 2 - - = - = 1 - = i = -
(R 100.0 - - - - =..50.0 - =i..50.0 - -
_\‘ 6 - 1 - - 1 1 - - - - 3
yoex 100. 0 - 16.7 - - 16.70  16.7 - - - - 50.0
- 1 1 - - - - 1 1 - - - 1
N 100.0)  25.0 - - - - 2500 250 - - - 9250
Ty —E 2 : ! - i - - - 2 - - - L
100.0{ _ 25.0 - - - - -1 50.0 - - 250
0 [a] 2 B - _ _ _ _ - - - - - _
fH20B. & 7 O ik (2 Dfh)
il H P48 * piis
#* fan B %)
e % s &
P 28 16 1 9
= Ik 100.0{  57.1 7. 3.6 32.1
Hbk - KPE - B3 B B - - i
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